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OPTION-A

Paper : BOT-HG-4016/BOT-RC-4016

(Plant Anatomy and Embryoiogy)

1. Answer very briefly : (any seven) 1x7=7

(a) What type of endosperm is found in
.  - rice •?••*: .

w? crrat •?rra ?

(b) Where form the embryo gets its
nutrition ?

9ff5f 9

(c) What are secretory tissues ?

.  ft ?

(d) What type of fruits do not bear seeds ?

ft WT 4t ̂  ?

(e) Who proposed liistogen theory' to
explain shoot optical organisation ?

CTOT 1^C>SR

(f) What is the significance of carhbium ?
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(g) Write the name of tissue that helps

hydrophytes to remain floating ?

?

(h) What is quiescent centre ?

1% ?

(i) In which tissue stomata are_ located ?

^ ?

0) What is tapetum ?

C5^'5'fUT*l 1% ?

2. Write briefly : (any four) 2x4=8

1%^ S (Ri'l'IC'l) ̂ tf^)

(a) Polyembryony

(b) Double fertilization

(c) Hydathodes
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(d) Annual rings

(e) Casparian strip

(f) True and false fruits

(0 Phylloclade

(h) Heterofertilization

1%^ Rwm

3. Answer any three of the following :
5x3=15

\o(r)\s <15^1 l^c^picii 1%^ o

(a) What is self-pollination ? Write briefly
about the advantages and

disadvantages of self-pollination.

3 (Sem-4/CBCS) BOX HG 1 /2, RC/G 4



(b) Write briefly on heart wood and sap
wood.

(c) Describe cellular endosperm with neat
diagram.

^1 ■

(d) Write the difference between
meristematic ̂tissue and permanent
tissue.

I

(e) Write the difference between apomixis
and. parthenocarpy.

^  WR W5 I

(f) Write on micrOsporogenesis and
microgametogenesis.

(g) Write on cork cambium and vascular
cambium.

(h) Write the tissues responsible. for
providing mechanical strength

(support) in the higher plants.

*1^
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4. Answer any three of the following :
10x3=30

R>HUH 1%^ o

(a) What is megagametogenesis ? Describe
.  in detail the structure and

development of tetrasporic mature

female gametophyte.

1% ?

(b) What do you mean by tunica-corpus

theory ? Describe various theories

relating to growth and development

in the stem apex of higher plants.

2+8=10

^  1%
144W5 vb7l^\s

(c) Describe in detail about secondaiy^
growth in dicotyledonous stem with

neat diagram. 2+8=10
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(d) What is apical meristem ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. • 2+8=10

fi?rt I

(e) What is cross-pollination ? What are
various forms of it ? Describe each of

them briefly with examples.
2+2+6=10

^ ? %rR ^

1% ? a1%c5l ^ I

(f) What are the components of vascular:
elements ? Describe any one
component of vasciolar elements.

2+8=10

i% # ?■

(g) What is meristematic tissue ? How are
they classified ? Write briefly about
them. 2+2+6=10

^ ? 2R:v5m I
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(h) What is permanent tissue ? Describe
different types of simple tissues with
neat diagrams.
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(e) Which part of the black pepper plant is

edible ?

(f) Write the full form of RAPD.

RAPD I

(g) What is andfogenesis ?

1% ?

(h) What is micropropagation ?

1% ?

(i) What is DNA marker ?

DNA ?

(j) What is hybridoma technology ?

2. Write briefly on the following : (any four)

2x4=8

\Sq\5 fWPT^^ S

(a) Chemical constituent of soybean
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(b) Economic uses of gram

(cj Embryo culture

(d) Recombinant DNA technology

DNA

(e) Reverse transcriptase

(f) Morphology of cotton plant

(g) Gene therapy

(hj Down syndrome

v5"fe^

3. Write short notes on the following : (any
three) 5x3=15

\Dc^ cOk^i s (Rc<p/c^f

(a) Origin and morphology of wheat
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(b) Chemical constituents and economic

uses of groundnut

(c) Morphology and uses of black pepper

(d) Processing of tea

(e) Scope of biotechnology

(f) Application of embryo culture

(g) DNA fingerprinting

•  DNA

(h) ELISA technique

ELISA Slfeft
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4. Answer aiiy three of the following :

10x3-30

555R 2RPP3^ Ri4>lMl fopiSH ̂  %t 8

(a) What is meant by centre of origin ?

Write in detail Vavilov's centre of origin

of cultivated plants.

<5picci 1%
.  v5^

.  I

(b) What are legumes .? Write a general
account of legumes with special

reference to gram and soybean.

*Pij 1% ? i5vir:'5ih.
fell

(c) Write the scientific names, families,
parts used and uses of the following :

(i) Clone

(ii) Cotton

^  1^^ S .

(i)

(ii)
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